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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Economics
Paper II

AL ITET

PrERIECTN |
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULEhd THY TR (50) SgOAel U ol ofRd. Yo TR g (2)

U 3Rd. @d U Wi

“Underdevelped countries are the
slums of the world economy.” This

statement is stated by ................... .
(A) Ragner Nurkse

(B) A. K. Cairncross

(C) Colin Clark

(D) Jadgish Bhagwati

Marginal damages ..................... .

(A) must always be considered in

social marginal cost

(B) must not be considered in social

marginal cost

(C) have nothing to do with social

marginal cost

(D) Are not part of social loss

" AfoeRiaa T & ST STdeaeE

gigeug Rd.’’ § faum
I TG ol IR

(A) TR o

(B) W . HIThT

(C) =hIci =FTeh

(D) SPTETRT Syrereit

fama g faem

(A) g famid T=id SgH haE
rfest

(B) gmaTteiss foura ®=iq swLvr=

SEYIhHAT A&l

(C) wmifsieh famia w=ieh Fefea A met

(D) B FHEIfSh THAFET 9T A

[P.T.O.



Which of the following is correct ?

(A) Traditional budgeting focuses
only on goals

(B) Zero based budgeting produces
a single level of appropriation
for an activity

(C) Traditional budget starts with
last year’s funding appropriation
(D) Zero based budgeting does not

consider alternatives

In the context of Government of
India budgets, which type of deficit
is suggested by the formula : Total
Receipts—Total expenditure :

(A) Revenue deficit
(B) Primary deficit
(C) Budget deficit

(D) Fiscal deficit

Which one of the following
statements is not laid before
Parliament under F.R.B.M. Act,
2003 ?

(A) Macro-economic Framework
Statement

(B) Medium Term Fiscal Policy
Statement

(C) Annual Financial Statement

(D) Fiscal Policy

Statement

Strategy
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WATAUesh! hivd faam sfieR 38 ?
(A) WRAA ASEIAHE TGadTd Hekd

Nt o N N
SerllEl [ddX encdl Slldl

(B) T[ATEMNG  ARTIUARTIA TR
SUHATITST THTE IIdRaE
fafEeE &

(C) WG SASTSIUsIeh AT o=
oo N NN
fafSHEET shel S

P
b

TR T AT PATHR IR JE G

S ?

(A) wEHa! e

(B) WiofHe &
(C) SRR T2
(D) TSRS e

2003 AT TSI Seraery 37T 37ef-

Hehody SHeETTe STl Eeiieldeh]
HIG IR T ARESd Hied Sd
e ?

(A) THUALT Tfefeh STRIEE] e s

(B) HEAHHS! TsTehlsia €07 foraorast

o ) (aV o

(C) dM®eh TaxIA Taa{0gA

(D) TSRS &R0 a1 ooy




Imports are taxed but exports are

not taxed under :

(A) Residence principle
(B) Origin principle

(C) Destination principle
(D) Source principle

According to the budget estimate of
2015-16, the external debt of
Government of India was about

........................... of the total public

(A) 1.5%
(B) 2.3%
C) 3.7%
D) 4.5%

According to the recommendations
of the 12th, 13th and 14th Finance
Commissions in India, the
percentage share of states in the
total central tax revenue was

....................... respectively.
(A) 30.5%, 32% and 42%
(B) 29.5%, 32% and 42%
(C) 27.5%, 30.5% and 32%
(D) 30.5%, 32% and 45%

APR - 11217/11—B
I TRTSTER Fafdieor T 7 STehRal
ST T STRRAT Sl ?
(A) framEeem @
(B) STRYEIM T
(C) 7Y™ a
(D) FaEa™ T

FIHHTT 2015-16 A1 IFSTIHR THT

TTeSIeh shofea YA faesit et

(A) 1.5
(B) 2.3 TFh
(C) 8.7 TFh
(D) 4.5 TFh

ORATd 121, 13S0 7 14e foxi-

ST RTRREiTaR. &g =
THU Hegadia TsarEr fewm sty

(A) 30.5%, 32% =701 42%
(B) 29.5%, 32% 3Tf01 42%
(C) 27.5%, 30.5% 3701 32%

(D) 30.5%, 32% <01 45%

[P.T.O.



10.

11.

Which of the following is an

exception to Linder’s Spillover

Theory ?

(A) India Exporting Ganesh Idols
(B) China Exporting Ganesh Idols
(C) US Exporting Chrismas Trees
(D) Scotland Exporting Alcohol

Which of the following terms of trade

concept attempts to capture

productivity in the export sector
and import competing sector of a

country ?

(A) Double factoral terms of trade
(B) Gross Barter terms of trade
(C) Net Barter terms of trade
(D) Income terms of trade

When exchange rate changes from
$1 = Rs. 65.22 to $1 = Rs. 67.27 due

to market forces, it is called as :
(A) Devaluation of Rupee
(B) Revaluation of Rupee
(C) Upvaluation of Rupee

(D) Depreciation of Rupee

10.

11.
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ekl hIvET fael=ar Figau

fgge eTqae 3R ?
(A) ¥IRT T ST ot Heft<it fafa
(B) =¥ shiid THeiet ToreT et fafd

(C) THRERT ild et fgaqy 2 =it
T

(D) RIS Hld ] Jar=l I
RIS @AYk I HeheddT

TEE <Y A & enfor et

e ATl SEhdl AL A 2

(A) fgoesr =AMt

(B) ¥hdl IEIaTHa SATIRE

(C) Treue axgfafma sAmaRe

(D) SO SATIRITAT

Stegl fafa X $1 = % 65.22 F&A
$1 =T 67.27 391 AR IS TS
LRI Y T

(A)

YA ST

(B) TUE™ GAH

(C) T HedqeaH

(D) TYIET HoI-™




12.

13.

Match the following :
A’

(@) Product Cycle Hypothesis

(b) Spillover Theory

(c) Availability Theory

(d) Price-Specie Flow Mechanism
B’

(z) David Hume

(i1) Vernon

(i17) Linder
(tv) Kravis
Codes :

(@ ) @ (@
A @) @i Gv) @
B) @ @ (tv) (1)
C) @) @ (v) (@)
D) @ G @ G

Statement I :
According to Adam Smith
International Trade takes place on
the basis of comparative advantage.
Statement II :

The principle of absolute advantage
is at the focal point of David
Ricardo’s theory of International
Trade.

(A) Statement (I) is incorrect and
statement (II) is correct

(B) Statement (I) is correct and
statement (II) is incorrect
Both the statements (I) and (II)
are correct

Both the statements (I) and (II)

are incorrect

©)

(D)

12.

13.
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SIERIISCEI
‘A’
(@) %] < TRERTT
(b) Trea fagr

(c) Syoedral fagra

(d) forma-vifees 9 Jame o
B

(i) Sf=e &

(ii) A

(iif) ferex

(jv) SIfead

Hichdieh :

(@) (b) ) (@)
(A G G Gv) @)
B @ @ (v) (@)
) Gi) @) () ()
D) Gv) G @) G)

faem= I :

¥y fu=a #d AR TR

qafTer aTaeR 3eia STEa.

faeam 11 :

HaA AR dxa sfeee Reprei=a

AW AR fagaren shggart

3TTe.

(A) faum 1) I =1 enfor fasm (10
T 3T

(B) faum (I) sRIeR 3118 ator faem (1)
Th AR

(C) faum (I) 3nftr faem (1) Tt sIsR
TR

(D) faum (1) sufor faum (11) =1 ==
Sk

[P.T.O.



14. One limitation of absorption

15.

approach to Balance of Payments

adjustment is :

(A)

It assumes a constant income

(B)

It assumes a constant terms of

trade

assumes a constant

(C) It

aggregate expenditure

(D)

It assumes nominal devaluation

of currency

According to Vernon, which is the
source of comparative advantage for

developing countries ?

(A) Cheap labour combined with

imported capital

(B) Imported capital combined with

innovation

(C)

Innovation combined with

cheap labour

(D)

Cheap labour combined with

high technology adopted

through imitation

APR -1121711—B

14, HERRAATAT STRNE0 SR Teh

15.

(A) fer 3= Tfed =R oTR

(B) STURINT feeR sTedr™ Tfed et
e

(C) TR W = e oxem TR

(D) I S AHAS STeredd fed

Ul 3R

AT Ha faemaeiia et dafien

AT G IO SAHal 2

(A) A Wiedd™Eeg @& 99

(B) TOYadTEE STHE MiSdd

(C) W& HHEe qavaH

(D) STIHIOMAT HILTHGT T Theted

3T dIAEE Wk o




16.

17.

18.

The working of Indian monetary

system was studied by .................. .
(A) Urjit Patel Committee, 2010
(B) R. Gandhi Committee, 2005
(C) Chakravorty Committee, 1985

(D) Narsimham Committee, 1980
SAFTA stands for ......ccoeevuueen.... .

(A) South Asian Foreign Trade

Association

(B) South Asian Free Trade

Association

(C) South African Free Trade

Association

(D) South

Transaction Association

Asian Financial

Annual percentage growth rate of
India’s GDP in July 2014, July 2015
and July 2016 was ............ y eereenenes and

................ respectively.
(A) 7.1, 7.5 and 6.7
(B) 6.7, 7.1 and 7.5
(C) 6.7, 7.5 and 7.1

(D) 7.5, 7.1 and 6.7

16.

17.

18.
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ORATd o SHaE =] hTHR TSI

(A) 3 9ea ", 2010
(B) IR. T 9fEdt, 2005
(C) =ehadl i, 1985
(D) g wfil, 1980

‘SAFTA’ @Tcilcideht shrd <gifadr ?
(A) TRY THE BHH I SEEiwEE
(B) 9=8Y THIE Wl ¢ STHEEH

(C) =Y fFHT W T wrEETEE

(D) 9RY THI IS R
ST

IRar=AT GDP Aefte oTfdeh ggiet ol

2014, 1 2015 =TT JoI 2016 HEA
Tty

(A) 7.1, 7.5 =7fur 6.7
(B) 6.7, 7.1 =nfor 7.5
(C) 6.7, 7.5 =mfur 7.1

D) 7.5, 7.1 =7fur 6.7

[P.T.O.



19. Which one of the following

statements is correct with respect
to India’s Foreign Trade Policy

2015-20 ?

(I) Export target set for 2019-20 at

US and 900 billion

(IT) India’s share in world export to
be raised from 2 percent to 3.5

percent

(III)Foreign Trade Policy to be
alligned to make in India,

Digital India and Skill India

(IV) Foreign Trade Policy will be

reviewed annually
(A) (I), (II) and (III) are correct
(B) (II), (III) and (IV) are correct
(C) (I), (IIT) and (IV) are correct

(D) (I), (II) and (IV) are correct

APR -1121711—B

19. WIAtIdeh! Hivd Tk faem wRdr=a

foeeit =aMOR &R 2015-20 =1 FEHld

3T 3y ?

(I) o 2019-20 iar =

o~ o ~ r\lr\

900 fafam mfera efer T

Hel I

o [ a VY

(I1) YA SIeTfdes fAEidde feedm 2

b 9%d 3.5 b TAd el

(III) faesh =R /o ¥k 39 3fed,
fefStea sfean anfor femat sfear =M
Seu

(IV) foRst =R &om=n anfties SATere
ooy

(A) (I), (IT) enfor (II1) 3Tk 3TRd
(B) (II), (IIT) 7for (IV) 7=k 3Ted
(C) (D), (IIT) 3mfuor (IV) 3Tk 3TRd

(D) D), L) 301 (IV) 3T 3Tz

10
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20. FRBM is the abbreviation of : 20. FRBM 3 Tﬁ ®q FE 2
(A) Fiscal Responsibility and
Budget Management (8) free feffafafad fe aswe
(B) Fiscal Regulation and Budget LT
Management
(B) fhErd TR 3T sl WA
(C) Fiscal Revaluation and Budget
Management (C) TFerd REUEM e aoie HHsHe
(D) Fiscal Representation and
(D) Treha ROHEM 3fe oele HisHe
Budget Management
21. Which of the following is not the | 21. WIcIciush! I I G-7 FHETET THHR
member of G-7 group of countries ? s | FA
G USA () R
(ii) Russia (i) TR
(i11) France (ii1) T4
(fv) Japan (fv) S9ME
(A) @) (A) (@)
B) @) B) @
(C) Gv) (C) Gv)
D) @) (D) @)
11 [P.T.O.



22.

23.

24.

Nobel Prize in Economics for the
year 2016 has been given to Oliver
Hart and Bengt Holmstrom for their

contribution to ................... .
(A)
(B)
©)

Imperfect competition
Contract theory

Limits of state intervention

under market economy

(D)

New horizon of game theory
Micro Units Development and
Refinance Agency (MUDRA) Bank
was launched by Prime Minister
ON e .

(A) 8th April, 2015

(B) 14th April, 2015

(C) 2nd October, 2015

(D) 14th November, 2015

In descriptive statistics, we study :

(A)

The description of decision

making process

(B) The methods of organising,
displaying and describing

data

(C) How to describe the probability

distribution

(D)

Research planning

22.

23.

24.
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2016 31 I TS Aael TRASR
3ffeteet B ST oI BIeHErH T =

AMEHEEE feed T,
(A) 31Ul Tl
(B) R Tagr

(C) ITSIRYTd Aefqasadd IHh 4
TEAITET HIieT

(D) Wes fagrart Tt fafas

GeH yeuZeh foehe o YAfoN ATk
(1) o HaHa o
feorelt g& et

(A) 8 THid, 2015

(B) 14 T, 2015

(C) 2 RIM, 2015

(D) 14 R, 2015

U WG IHET 0T T eTish!

I IS A HLA 2

(A) Troia wfsa= oo
(B) U9 THfed, Wiyt offor oo

FLIMEES! ATATII IR Tgd

(C) T faawor wymyeh guiam

(D) weeE e

12



25.

26.

27.

Base year quantities weights are

used in :

(A) Laspeyre’s method
(B) Paasche’s method
(C) Fisher’s ideal method
(D) Consumers’ index

The overall goodness of fit of
the regression model is measured

by oo, .

(A) Coefficient of variation

(B) Coefficient of determination
(C) Coefficient of correlation
(D) Coefficient of association

If “time” is used as the independent
variable in a simple linear regression
model, then which of the following

assumptions could be violated ?

(A) There is a linear relationship
between the independent and

dependent variables

(B) The residual variation is the

same for all fitted values of Y

(C) The residuals are normally

distributed

25.

26.

27.
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SR T8 WRId IR0 Seiierien! shIoTe
qgdid SUANTE SO0 Ad 7

(A) AHISH TS

(B) W¥eS gd

(C) Trer=l aTeel dsd

(D) e fdwmen

THISA0 YA ST FHdehal

(goodness of fit)
.

(A) fo=ror Tome
(B) @i wqomen
(C) Fega Uk
(D) 9E=d U

e I 9fqe™a gfaae e’ @

s I SYANTE ST SleleTueh
FHIVA Tfed W F0ATE TR AR ?

(A) a3l 3T Aacfad et Al o
T TR

(B) 2maf¥re fa=ro Y =0 94 ramafea

SIS B

(C) AafyTe™ fodiol TEH= WE e

(D) Successive observations of the o . -
dependent variable are (D) sTgcfad wara IR FAIeTo
uncorrelated Tegafyd ATl

13 [P.T.O.



28.

29.

30.

Index numbers are expressed in :
(A) Ratios

(B) Squares

(C) Percentages

(D) Combination

Which of the following is not based

on all the observations ?
(A) Arithmetic Mean (AM)
(B) Geometric Mean (GM)
(C) Harmonic Mean (HM)
(D) Mode

If all the values are of equal
importance, the index numbers are

called :

(A) Weighted
(B) Unweighted
(C) Composite

(D) Value Index

28.

29.

30.
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~

FESTeh Weiieen! heT=a §R g

HLOA A ?

(A) 9HIT

(B) =

(C) ehar]

(D) HIHIHI

WEleTeh! IO\ Fee e

YR HL0IT Id AT 2

(A) iU weg
(B) yffda #ea
(C) Haret ueg
(D) Sgt@

o Yo 9 T8 QUAN ST

~

FETTRTEN J&ictieh! 1™ WU 2

(A) g
(B) 2AviRd
(C) gfasn

(D) Hea e

14
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31. Rationality principle of revealed | 31, Ysequd= faesptame qHe
preference indicates .................... . digrcdﬁaal FT.
(A) Maximization of satisfaction
and preference to bigger over (A) FHIES HETHHTT ST =TT
smaller bundle of goods TSl afereh o R A
(B) Maximization of satisfaction (B) ST Wl ST &I 3%
with the same bundle of goods T T
(C) Maximisation of satisfaction
despite a decline in the size of (C) TGHRRIA SRRl T
bundle of goods HEAHIRL
(D) Maximisation of satisfaction (D) T TEqHeRT0 3Ty stferes-
and preference to smaller over N o
biggfr bundle of goods ST T T R A
32. Match the following : 32. Sfel el :
‘A’ ‘A’
(a) Kinked demand curve (@) STERER HWOT =5h
(b) Isoquant (b) HHIIRA oIh
(¢) Shift in demand (c) WU AT
(d) Upward sloping supply curve (d) SEEH qLeral
B’ B’
(i) Change in income (i) 3T 9
(ii) Increasing marginal cost (if) =rear o e
(iii) Quantity rigidity (iif) TTHEAT IRgEd
(iv) Convexity and non-intersection (iv) TSR MO STSTA
Codes : Hichdich :
(@ () c© (@ (@ (®) © @
A Gu) Gv) @) @ A @) G @ 0
B @ O ()  (Gu) B @ O () ()
C)  @Gv) @) G @ C) G G @ O
D @) @ @O @ D) @) Gv) @ G
15 [P.T.O.



33.

34.

What can you say about an
indifference curve that is positively
sloping ?

(A)

Both the commodities are

wanted commodities

(B)

One commodity is wanted and

the other is unwanted

©)

One of the commodities is

neutral

(D) Both the commodities are

unwanted commodities

If the commodities are perfect
complements of each other, the
corresponding indifference curves

would be :
(A) Positively sloping straight lines
(B) Negatively sloping curves

(C) Negatively sloping straight

lines

(D) L shaped straight lines

33.

34.
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SR TSI b & AR ST T TN

Hivg faam waa ?

(A) T a% Tifsd aw A

(B) Tk I difed o SHI sTafed S

(C) Tk o1& dexd 3

fal

(D) TR Faifeq o] ST

(A) ¥ AR Tl IO

(B) RUT 3dRET dsh

(C) U AR Tl IO

(D) L 3Rt 9

16



35. Who were the main proponents of

36.

new welfare economics ?
(A) Hicks — Allen — Sen

(B) Allen — Scitovszky —

Samuelson
(C) Hicks — Kaldor — Scitovszky
(D) Sen —Samuelson — Kaldor
Identify the incorrect statement :

(1) When TR is maximum, the
corresponding MR is equal to

Zero

(iz) When TR is maximum, the

corresponding Ed = 1

(zi1) When TR is rising and positive,
the Ed > 1

(zv) When TR is rising and positive,
the Ed < 1

(A) @)
(B) ()
(C) @)
D) @)

35.

36.
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T HEATIT=AT AL THE T&hd
ol I

A) fe/m — ofem — o
(B) 3feH — fadissshl — HRITeEA

o N

EEIELS

C) fesm — =dAErR —

(D) T — HYAAHT — HaeR

ARl Hehial fauM slieen :

(i) STeRl T Hated 3T degl qequNTh
qo I ST

(i) STog1 YT Hated 3T degl q&quNTh
AT Safaehdl = 1 3/9d

(131)STSRT WY1 & 9 aTed 379 deal HITul
Adfaehdl > 1 3T9d

(jv) STe&T TYT ¥F 9 d1ed 3T9d deal HEToft
Aafaehdl < 1 319d

(A) (i)
(B) Gv)
©) @)

D) @

[P.T.O.



37.

38.

39.

What can you say about these
statements ?

(z) All Giffen goods are inferior
goods.

(zz) All inferior goods are Giffen
goods.

Both (z)
statement (ii) are incorrect

(A) statement and

(B)

Statement (i) is correct and
statement (i7) is incorrect

©)

Statement (i) is incorrect and
statement (i7) is correct

Both (2)
statement (iz) are correct

(D) statement and

In the growth literature sigma
convergence refers to :

(A)

Poor economies grow faster
than rich economies

(B) Reduction in the dispersion of

income levels across countries

©)

Increase in the dispersion of
income levels across countries

(D) Rich economies grow faster

than poor economies
Ratchet effect relates to :
(A) Life-cycle hypothesis
(B) Permanent income hypothesis
(C) Relative income hypothesis
(D) Absolute income hypothesis

37.

38.

39.

APR -1121711—B

Trelia fagHEed @l ®E 9 ?

() we fThe a%q a1 Mepte a5 /™am.
(i) e fgpee g =1 fTehe oq STEm.

(A) faum ) o faum i) & <=1 =%
e

(B) faum () seX o faum (i) I
S

(C) faum () I o faum (i) SR
e

(D) faum ) 9 faum (i) & =L TR
e

sTfiygfs wfecama far sifveromen wed
WTeAledeh] MM 3/l ?
(A) T Aferawn siHa Ad=aeduan

feer S faesfad gia

(B) GdHE USTAT 34— el
TSRO o2 BId

(C) GaH® [T I¢q— Trdiel
TN @ B

(D) =i refegaree T« qLfeTaweuen

N e

feer S faerfad g

Afardt TROmH WefieTien! Yl Feted
A ?

(A) SitearTash aRehedH

(B) Tl & el

(C) 9Ue SOAIERI IRehed T
(D) e 3= aferea
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40.

41.

In permanent income hypothesis,

transitional income has :

(A) Positive and high correlation

with permanent income

Positive and low correlation

(B)

with permanent income

(®))

Zero correlation with permanent
income

(D)

Negative and high correlation
with permanent income

Match the following :
Statement I

(a) Inventory approach to money
demand

(b) Adaptive expectation

(¢c) Lower turning point

(d) Life-cycle hypothesis
Statement II

(1) Edmund Felds

(i1) John Hicks

(zi1) Franco Modigliani

(zv) William Baumol

Codes :

(@ B (© (@
A @ (i) @i)  (v)
B G O @) ()
© @ O (1) ()
D) @ O () )

APR -1121711—B

40. TR 3 IRehegd HhHURT 3cd—]

@eiedeh! 8 TR ?
(A) Rl 3T Sae HedeY o
YqIcHeh 3T 3=

(B) T AT SReRicl HeHeY U
=

(C) T A T FeHa = oTeh
qea A

(D) TR ST IR FEHaY U Ted
HUMcH AT I=d

41. Sire Sl

faam 1
(@) Y= HRTOET WISl gftes

(b) TTHTH ST

(c) Trer= e fog

(d) Saa-Tsr IReeq

fagm 11
(i) USHE Wheed
(i7) S e
(ifi) el HISIRASTH
(jv) Tafaag Srsata
Wiehdiah :

(@ b)) (@ @
A o (i) () ()
B) @ O () ()
© @ @ (i) ()
D @ O (v) ()
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42.

43.

Select the right answer from the
options A to D given below :

Assertion (S) :

Long-run Phillips curve shows no
trade-off between inflation and
unemployment.

Reasoning (R) :

This is because individuals have
rational expectations regarding
future inflation.

(A) (S) is correct and (R) is correct
(B) (S)is correct and (R) is incorrect
(C) (S)isincorrect and (R) is correct

(D) (S) is incorrect and (R) is
incorrect

According to Cambridge version of
demand for money, velocity of
money circulation will be constant
if :

(A) Money supply and nominal
equal

income change in

proportion

(B) Money supply increases at a
higher rate than nominal

income

(C) Money supply increases at a

lower rate than nominal income

(D) Money supply has no relation

with nominal income

42.

43.

APR -1121711—B

TAAUHRT A O D TIEHEA IR
et .

gfearea (S)

e fRfaw o geifemdt s
SRSAR A FHed T9edrd Teito.

gferare (R) :

el IV WS HETEhcitelerd sHerit fororht
TS T ST

(A) (S) SR 3T (R) seR

(B) (S) & Afor (R) I

(C) () ¥ 0 (R) SR
D) (S) b 3 (R) I

YeTETSt AN HES SREATER
T Temer wor feer e SR

(A) T JReeT T Aifed S AT

¢ HYHTONG 3l X

(B) NI RASHIRITA SE ATHA Scq=Taal

e SR S0 ST

(C) NI ISR TG ATHA Scq=Tel
I TWH I

(D) TeT=n Qe Ao A Seq= A

Y I
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44. Which one of the following is not | 44. 3Icqeq =for sk fHeiom=n 31fymmg
part of the classical approach to e MId TefieTish! Sl YT FHIfa
determination of output and B ATEr ?
employment ? A) A f
(A) Say’s law - . R

. . (B) ddA-TehHA Td=hdl
(B) Wage-price flexibility )
C) dHd-TddUeh HHM
(C) Savings-Investment equality © ST
(D) Money wage rigidity (D) :

45. When the population growth rate of | 49 Stegl SrfeTereddiel AhHEA TGt &
an economy becomes greater than U AR EEIEII@?&T ST 3T, gl
the achievable economic growth rate, g 3 TAIfdel .
.t i k ccccccccccccccccccccc . N hd o Y
115 fehown as (A) <IhEEAT Ta¥hE
(A) Population Explosion < .

. (B) <ilehuEAT HUe
(B) Population Trap .
(C) Population Crisis ©) = :
(D) Population Cross (D) TIHEEAT B

46. Make a choice of the correct sequence | 46 =el AR T T THISTSSRTETE
given by Karl Marx for development ) . .
of mociets ! STORATAT HeYld oT<eh HH G
(A) Primitive communalism, (A) TESTEIEER, SSTHITRT, TeaeTet

Feudalism, Capitalism,
Socialism, Communism SHINIAlS, A<l
(B) Primitive communalism, (B) Wi SIEE, SSTHSE!, THETE
Feudalism, Socialism, .
Communism, Capitalism A, TS|
(C) Feudalism, Primitive (C) TRSTHIET, W SIkiFer, THSTeE,
communalism, Socialism, )
Capitalism, Communism TSI, |
(D) Communism, Capitalism, (D) Hr=dE, ISasEl, HHSER,
Socialism, Feudalism, Primitive .
communalism HISHEIE], =i Sdrag
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47.

48.

49.

The theory of “Big Push” is
propounded by .......cccceeeeennnnn... .

(A) Arthur Lewis

(B) C. P. Kindelberger
(C) Rosenstein Rodan
(D) Karl Marx

Which one of the following is
important aspects of the concept of

sustainable development ?

(A)

Intragenerational equity and

intergenerational equity

(B) Intergenerational equity and

intragenerational inequity

©)

Intragenerational inequity and

intergenerational inequity

(D)

Intergenerational inequity and

intragenerational equity

Which one of the following is better
measure of degree of income

inequality ?

(A) Kuznet Hypothesis
(B) Gini Coefficient
(C) Poverty Line

(D) Lorenz Curve

47.

48.

49.

APR -1121711—B

‘yae e’ fagm
YK hell 3R
(A) TR Afed
(B) ©i. dt. fReear
(C) e Tem
(D) wTei A1

MY forehr Hehoam= Selieiieh! Shivw
T " U9 e ?
(A) Toeararia = =for STafueamei

i

(B) fiaifuearmtiar = anfor et
S I

(C) Toeumaia 2= 1o STicRfueme
T

(D) iU 3= e1ftr fuewiaia
=

I fIomar U= "I Seliyen]
HIG Tk IIH YT A ?

(A) e TRIAE
(B) firft women
(C) M= Yo
(D) @R o
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50. Match the following :

Investment Criteria
(a) Capital turnover ratio
(b) Social marginal productivity
(c) Reinvestment criterion
(d) Time series criterion
Economists
(z) Dr. A. K. Sen
(i1) Galenson and Leibenstein
(iii)A. E. Kahn and H. B. Chenery

(iv) J. J. Polak and N. S. Buchanan

Codes :

(@ B ©© @
A @ O @) (i)
B) O @) G Gv)
© G Gv)y @ GD)
D)  Gv) G G O

APR -1121711—B

50. Sieal dmEl

T[euLeh R

(@) WiEdd AR ORI

(b) \THITSIF HHG ScqEehel

(c) Tjdaves fTew

(d) A @ o

Irefas
() . T & o

o~~~

(i) T a9 fafeqfea

(i) T 3. HET 9 TI o ==

(jv)S. . Gk o TA. TH. &G

Hichdieh :

@ B (© @
A @ O (v) (@)
B) @ @)  Gu) (@(v)
© @) G @O @)
D)  Gv) @) @) @)
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